MAT 055 Name___ Answers
Practice Test Chp 18 Date
Version A Campus

All answers are to be in simplest form. A scientific calculator may be used. No notes, no books, no
homework may be used. This is a practice test consisting of basic concepts presented. It reflects
what could be on the actual test. Students are encouraged to review all of the material presented.

-
X= 2—0- Find y by substituting the x vaI(eab ck in. Note that f(x) is replaced by y.

Find the vertex of the parabola.x_ "3 + _9_ . 2 =-\2_ . _3- - |
- - 3 53 X
1) f(x)= 3x2 ; 11 ‘7( Vertex:( | ,-q )

Answer: (1, -4) )I_ 3<|) () I'_?I' = 'I3' = % - I-_|3 = —_|3_;

y= -

2
2)  f(x)=3x2-2 -F (X) = 3)( 4—0)(" o Vertex:( 0 , '8 )
X = (®) - 0 Substitute a zero term for missing b or «
Answer: (0, -2) - — = = (O terms. The a term cannot be missing or
=(3) E it is no longer a quadratic.

Y=2(0)"+0()- 2
=-2
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Use the graph of f to evaluate each expression.

Given the x value, what is the y value?

3) 10),£(2)

~n

| (:0\5

W
[=)}
FENGT Y
oo
bl 4

Answer: 1,1

For the given f(x), find the 2 llowmg and graph the function. 2
3 x? + x+0 y=3(0) +0(o) +0
4)  f(x)=3x2 ¥ = (D) - =D
a?s) 6 ; v =
a) Identify the vertex (D ; O)
Express as an equation. Use the x

b) What is the axis of symmetry?_X = O value from the vertex.

Opens up when the a term is positive.
c) Does the graph open up or down? L ) U\p

) §rapn ob P Vertex is the lowest point.

d) Will the vertex results in a minimum or maximum value? YW\ tia \ ™™ WY\

e) Indentify the minimum or maximum y-value. O y value of the vertex

f) Evaluate f(-2) J 1 'p( 3) 3( 3‘) J'ﬂ‘{ (_23 "3|((’J’\)
g) Evaluate (3) ;l ?f" -‘ (3) C (3) = .f (‘5) 3(4) =) _e (‘5) 29—

h)  Graph the function.
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For the given equation, find the following then graph and solve the equation.
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5)m:3x2—2x ?x -2\;1_0 2_1 3)<l_3) -2(1'_5 =Y

1

X= —71-(- ) = 3 I 2
Answer: ([ 203 3(? ) B 3 =>l
a) Identify the vertex / L A A

Ca’ 3) | 2" 3F Y
b) What is the axis of symmetry?___ ¥ = "3 =
a term is positive so opens up ? = 7

c¢) Does the graph open up or down?L)_U\‘)

f)  Graph the equation.

p\!

g) What is(are) the solution(s) to the equation? X‘—' O y 3
If the solution is not real, say so.

~ Factor, use the quadratic
3)‘ - 2x= 0 equation or complete the

X (.bx_J) =0 square to solve. \/—-?)Xj- JY

Set each factor the contains a

X=O 3)(;3 =+g variable to zero and solve. y = 30 )7-_ 2 (‘)
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Solve quadratic equation by factoring,.

6) x2+5x-14=0

(’“‘7'1)";9 = O
X=-7 x=&

Answer: -7, 2

Use the square root property to solve the equation.

Math055 PracTest

> * Because you are taking the square root on
7) J(’X:;:‘ﬁ' each side, make sure to use plus/minus.

X+b = =5

A
X = -6 *J73

Answer: -6 =AJ13

o (Trear s Fxeyd = TS
_4+~lT5 q -4
— -YryIx

Answer:

W

2« -

>

X = -9yt Jr
)

0
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Find the term that should be added to the expression to form a perfect square trinomial. Write the
| (l’_) nd d + bohh

resulting perfect square trinomial in factored form

9)  x2+7x S 1des
Answer: 22 [X +Z]2 2
4 2 b L) = __’
(_5; )1 Term to add ( /;D
2 E J~
X + ?'X + (ﬁ \ Factored Form (X + ?/;)

X-+7x-|-w =(x+ ) () (‘zlg)zz

Solve the equation by completmg the square )
Qx + _L =15 1—

10) x2-2x-15=0 5
Answer: 5 —; IS r 5’ l
o ’ x*-x+ 1 = ' *
While this could be factared other ways,
the question asks for completing the J—-G--_r
square.
-1) = + LI
H—|+L/-“ x =|+Y x=1-Y
A x =14 q X=5 x==3
,b- ) [ > ?L _| ’ q . .
2 11)  4x +6XZ_-1q ¥ += =X+t = L . T& Divide by the a coefficient to
v) 3:Al5 J 5 '7'"/ createaleadlng coefficient of 1.
NG Answer :L ) g '7' 5—
-b 5\ 2 2 X+9) 3k et 7 /s =76
S (9)-3'1 x+§,-¢\rs‘
3 ; }_ _ 4 Rationalize the denominator
5 X+ y= = VY
3| -z T
y 7 -
% Xt g J3
of s
-3 Vs
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12) 7x2+2x-5=0 + i:_/; +5/9-

While this coild be fac-:-?(-)re?other ways, 2 a '-// .
the question asks for completing the Y + ; + lﬂ, = .5__; 3+ 196
e "z

X
square.
a y
( ) (X-'- /—'/ = ——qu + ."—Ib
2 1+ [/ /77 -2 12
( ) L (’“"72‘7) =J/1_’_‘£’ X= 7495y
S = =13 Yy 2
Answer: 7,—1 X‘|'£,, —l/_'-f-g x _ :1 j_%_-
: K AP
13) x +X+8:O_6 ='-:_/_L_l_ =-]
VW) g B) [wadea3 |y T
X +x+(5 --34-I el -_?:4.7
Xa-l-X-l-—,! — ‘B"'T, 2 2 3:"/ |
=1 . - .
X+3 —t‘;j- X =g a3l =t
| _3| 2 -_27

Solve the formula for the specified variable.

2. o
14) Ve= %mv2 for v (little v)

Use the discriminant to determine the number of real solutions.

LOOKL @ - ac Ll-"lac >0 2real

15) x2-6x+3=0 2 -
Answer: Two real solutions (_ 6) - ‘;‘(IX 3) b" ;/ac i g ;::;l
Z
a=l b= -6 c=3 362 L-fae 40 2l



4R Math055 PracTest
16) X2 +4x+6=0 4°-y (')(L'b)
Answer: No real solutions /b - 24 .
a=l b=Y c=¢ - % Mo Roal soluhes
0 -2Qro

Solve the equation using the quadratic formula. Write complex solutions in standard form.

17) x2+x+9=0 - l i'\lTl—V(i)(Q) —b:l:\)-_b-"__l.'[q?
oA O

o=l =1 c=9 END)
) £J1-36
A (1)
-l E£y35 _)x )(sr"___"aii-,; 35
h

A =2

Correct form for a+bi

Answer: -l:i@
2 2
18)  9x2+5x+2=0 'SIJE;’_L/(q)(;]
o=G L=%5 c=A a (q)
-5 E£35- 3

s
~S £V =T AR -5,

1% | € IS 8%

Correct form for a+bi

5 ,.al47

Answer: - — *1i
18 18
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Use the given substitution to solve the equation.

Z
19) x4-92+8=0, u=x2 (X )
d_qu+g=0

(u- ')(u Y)=°
e

=+ :1'\‘——- mﬁ
X=*taJg 2 Ja

Answer: #1, :2'\/5
Solve the equation. u = \JX

20) x - 13a/x +42 =0 The b term provides a hint on how

to set up the substitution.
Answer: 36, 49

U-/34+4Y2=0 J x& =
(u-t)(u-?) =D

u=b u-= 3"
WXk ) @” GL)
¥Y=3b X =
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